Algebra 1B CC







Name: ________________________

QUIZ –FACTORING
 QUIZ






Period: _________  Date: _________


**YOU MUST SHOW CHECK ON ALL PROBLEMS THAT SPECIFY TO CHECK**

1. What is the difference between the following expressions? Simplify the expressions and write in standard form.
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_________________                               ____________________

2-5.  Multiply and simplify the polynomials then write in standard form.

2.   
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5.  
[image: image6.emf]4x(x-1)(x=3)









4

xx

-

1

( )

x

-

3

( )








 

6-7. Find the GCF (only) of each polynomial and factor it.  *Check your answer by distributing. 













Show Check
6. 
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8.  Use all the digits 0, 1, 2, 3, 4, 5, 6, 7, 8,  and 9 to complete the following.  Each digit may only be used once.


[image: image9.emf][ Jx=5[ 1=(x=[ ))(x+7)
x2+3x—1[ ]=(x+5)(x—[ ])









x

2

-

[]

x

-

5

[]

=

x

-

[]

( )

x

+

7

( )

x

2

+

3

x

-

1

[]

=

x

+

5

( )

x

-

[]

( )




[image: image10.emf]1] Jr+sa= (x4 J)(x+6)

= Jx+12=(x=[ ])(x-[])









x

2

+

1

[]

x

+

54

=

x

+

[]

( )

x

+

6

( )

x

2

-

[]

x

+

12

=

x

-

[]

( )

x

-

[]

( )


9-12.  Factor the polynomials.  *Show check using FOIL or double distribute
9. 
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13-15.  Factor by first finding and dividing out the GCF. Then factor into binomials.  To *CHECK, distribute the GCF to the first binomial and then FOIL. 
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14. 
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16-19.  Factor the following polynomials into only two (2) binomials. Check using FOIL.
16. 
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20-27.  Mixed factoring. Use any methods or strategies to factor completely.  If it cannot be factored then show why and write “prime”. 
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27. 
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